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D’ with inputs and outputs as described above and
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shown in Fig. 1.
b, If the system will be built structurally from two A-bit adders as shown in Fig. 1. Write the structural
1. For other gates you can describe them behaviorally.

architecture called “structura

ENTITY adderd is
PORT (x,y: IN STD_LOGI
cin: IN STD_LOGIC;

s: OUT STD_LOGIC_VE
ouT STD_LOGIC);

C_V'ECTOR(3 DOWNTO 0) ;

CTOR (3 DOWNTO 0) ;

cout:

END;
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Note About BCD . Figure 1: BCD Digit Adder

Decimal). If the re‘:‘l‘ljl‘tizrf-;‘:;t?g:ir ;d:i: B(tJhD digit with another digit, each is represented by 4
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T
erial transmitter. In idle state, Sout = ‘1°. The system will transmit

: eric :
Fig2 Sho‘;S: iienut gop= <1°, at the end of the frame, another frame will be sent if go="1". Otherwise
a frame when 1P ¢ again if 20~ <0’ (Sout = ‘9’). The serial frame consists from n+2 bits ’

: in idle stat
the system will be in 1 40, Pin(o),P'm(l),...,Pin(n—l), Stop bit “1°.

with the followin

Q2) (16 points)
arallel to S

r this system.

Write a VHDL description fo

__7"4’ parToSer
Pin

Figure 2: Paraliel-to-Serial Transmitter

Q3) (20 points)
For the circuit shown in Figure 3

Figure 3: Q3 Circuit

Method to find when output g is sensitive to

input b? Then find the test

Use the Boolean Difference

vectors for b sa0. (6 points)
Use D-Algorithm to find all test vectors for e sa0. (5 points)

Find all the test vectors for g sal. (2 points)
Find all the test vector for g sa0. (2 points)

Find all the test vectors for f sa0. (2 points)
State all the faults that can be detected by: Test Vector abc = 010. (3 points)
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